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QUESTION 1

Examine this UIM code snippet: 

Which two missing elements are required for this FIELD element to compile successfully? (Choose two.) 

A. A PAGE_PARAMETER with NAME="caseID". 

B. A server interface with PHASE="DISPLAY". 

C. A server interface with PHASE="ACTION". 

D. A server interface call that returns an attribute called `type\\'. 

E. An ACTION_CONTROL of type ACTION. 

Correct Answer: AE 

 

QUESTION 2

Which three of the following are Application Tier Layers in the IBM Cúram SPM application? (Choose three.) 

A. Remote Interface Layer. 

B. Session Layer. 

C. Data Control Layer. 
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D. Business Object Layer. 

E. Access Control Layer. 

F. Data Access Layer. 

Correct Answer: ADF 

Reference: http://www.knowledgewala.com/ibm-curam-7-x-certification-important-notes/ 

 

QUESTION 3

When customizing out-of-the-box (OOTB) artifacts in RSA, which customization is compliant? 

A. Modifying relationships in place between OOTB classes. 

B. Assigning OOTB structs to other OOTB structs. 

C. Creating a new foreign key where the OOTB Entity is the child. 

D. Assigning a custom struct to an OOTB struct or entity. 

Correct Answer: A 

 

QUESTION 4

Consider this warning in the source code editor when EmployerFactory is referenced: 

"Discouraged access: The type EmployerFactory is not accessible due to restriction on required library
EJBServer/components/core/lib/core.jar." 

Which annotation is EmployerFactory declared with? 

A. @AccessLevel(DEPRECATED) 

B. @AccessLevel(INTERNAL) 

C. @AccessLevel(EXTERNAL) 

D. @AccessLevel(RESTRICTED) 

Correct Answer: D 

 

QUESTION 5

You discover a possible bug in the out-of-the-box application. 

A. Output from `build\\' configreport\\'. 

B. Tech Notes for the release. 
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C. JMX statistics. 

D. CADG output. 

E. Custom code base. 

F. Screen shots. 

Correct Answer: ADF 
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